EARAROBEEIERT — 2 N— IBISH —F

2013123 (k) 18mEIS5#A3H

KW > %2344 4 7% 3%K

EEE R

[AE4£] 1 #%:180,000 ™ ~ 23#%:36,000M ~ 3#&:18000M”  4%&:0M / 5&:0HM

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
> 4 3 | BEB#E 1:30.8 7-7-7-7 [ 39.4| — 5 424 | fREERE— (54R)
11717 XLT7Y 56.0 (=) (+3) BINZEE :
LY/ by THY Beadlieq EBEKEG
R e -30. WA . — iR — (51)
MR “ o | 2 el e I I e
L—iA7o— B:vy)-—2 H—L—- I x> T7—LARS
oS 45 i3 | MK 1:31.1 2-1-1-1 | 40.4 | — 4 429 | JIUBBLTE (S£42)
3l 3| 7ANTAHR 54.0 1 1/2) (-2 |‘BEE
LT N=—HrhU— B:¥ravo-x BLEHIS
. % 3 | BAOfEE 1:31.2 8-8-8-8 |39.2| — 6 420 | RERIESR (5542)
A > Pl A 2% 54.0 (2 E) (1) | BllBES: )
R:T7TF X BAVANHFE— b HREMH IXFT7—L
D — 3 4 3 | RINARI 1:31.3 4-5-4-3 | 40.3| — 2 472 | BEEE (1)
5 8 N—=t>7IL73IX 54. (1/2) (-5) B4 i
RTITRAFVLI B:bh—t27yN BHREHM IXF477—LA
P . it 3 | BATRA 1:31.6 3-32-2 | 40.8| — 8 406 | EBEFE (1)
el 6| 7V ERTAX 54.0 (1 1/2) 4o | ETBEEME
LT >N=h>h)— B:YTREYF B #—
=g = s 3 | EERSE 1:32.1 5-4-6-6 |41.0| — 3 465 | MBTAZ (SE4R)
d : M 0 @ 1/2) (0 |MERsE
LHALbT - Bi—NT g% 1B
s it 3 | EHKE 1:32.3 1-2-3-5 | 41.5| — 7 443 | REERSET (50)
8|55 T—¥>EF3 54.0 (1 1/2) () |BE=
RHIRG4 ISR B:ELRZFH—I SRS
S . jt 3 | Bt 1:33.3 9-9-9-9 |41.2| — 9 406 | NEREEER (%HR)
9189 2Z2rRkror 54.0 (5) 2) (g) FIK—Z;T'
L:770—h B:YILIIXFUTZ =E RIE
® I—F—@EBIERL
13—7F— 5,3,6,8,4,1,7,2,9
Ao=5"= 3,5,6,4,8,1,7,2,9
3T—7— 3,6,5,8,1,4,7,2,9
41—F— 3,6,8,1,5,4,7,2,9
[ RN
B R 7 3,480 | | 74 K 1-7 860M | | # = 1-7 2,610 | | 3:E& 1-3-7 4,070M
% B 7 350 3-7 1,050 | | & = 1-7 2,930 | | 3EE 7-1-3 42,340
1 130H4 1-3 330M B H 7-1 6,130M
3 1209

ABICOVWTRDTEEERROODE. TR LIV,




